PRI e
AT E S

(G * —— I3 B M I8

iy aEE R A U )

15 (e85 : 8066 AP :2013F 4] 26 f1

GILE Iy oI T MR I (o € BT L AR S PR (8 CAESLE PR )23 LT2TA JRT R i - e |

w7

YLE 387 S R FRYE (IR AS PR ST 13.3(0) ST 5l e » FlJ# 50 A
R ¢ L

C A T
B R R (R
I (o R AT

F4-627

IS N SN Wl N
R | A EMRE (Fro3 )
(7 9) 7

3L D)
(F#6r7)

R

T S R o o
(3 2) 3,119,335,000
013 # 37|31 f!
3
~2013 F 4 F] 26 E'[ﬂquﬁl
2l R 2 7 42,500,000

A

17J

8.86% =

T T

TN S e R o
(F 8) 3,161,835,000
013 % 45| 26 !




SRS

AR
1 FACLH 7T G A R o I T T S
2 /@fgg??@%%@h@%ﬁ&ﬁﬂlﬂA@ﬁ@ﬁiﬁgﬁfﬁﬁ?%ﬁﬁijﬂ%%gﬁﬁﬁﬁhWWﬁ&5ﬂ1ﬂ3ﬁ3@ﬁihﬂ@fqﬁ@u (SIS H L5 ) O
8. M FIHEGEE (YRS Ly PR O3 N12TA [ I R R o il I IR o S AT P o AR R o TR it
“p B IR © B9 C PSS R ) IR Y AR PRy SR RO o < G AT v
TRET 1 = 35Ty > 2 [RGB ) = R A 7 R o T 5 2 o o 5 0 ) 4075 Py g -
4, T FI AT ST TR AR 1T o Ry g R A fﬁ@#ﬁ“y’ﬁfﬂ/ﬁﬁ KL ARG (LL Py 77 T e = el R [y # 2
ERE) o FRA - AL G F i TR IR [ -
5. YLy 7 I RTTREVEY » F] T AR PO T ) RS I [ TR S s
6. Y ey -
~ TR T TR v
ST T T R T S T FrT R (RS T [ R R R 7 R TR FrT
7. T
- TSI LT T,
LTI [ T i T IR 1R IR T B L [ A R < T FrTE
SIS o ) T = 2 R )
8.

Jisd; o | R ET A %‘\ﬂﬁ%ﬁ/fﬁ/}f@/#ﬂ% TH] o



IR 3

A B
Rl 5 B ! EEIATES
T pbf! g
(ﬂ?—‘)
ok T
B. H [uevR

((3)x100)
S

BRI I g R = 28 T s

5
(enposs iy i Or)

Lo PR A (PR ) I BRI S okt
2 wﬁmwiﬁf P I BT S (RSB = 9 R 0T 153

IS
(%)

inyllFﬁ)PT?g,J » FYVA [FG‘L_FAEJ_‘ ELF’%_WIE[JEQ];HIfQ_TﬁL]%x <<€“]J$\7P§ l—1 t;JEII ) IE[ RIS FJLIE_T FJ—{ BLEFE A T,
] A?ﬁ[r@_@- bl FHE 0 ﬁLF%1_lwg[Jqu&$Fj§ﬂ »i_ﬁj:gigl%“‘ ﬁﬁ?}:ﬁ phAE R PRE S .

o L A
(7“ )
e
(@
%
E[LJ%FIEJF}»] (el

| 7R < RIS & BT - i F055 TGP F

HeH Mk

(i £)
B Jy

( *"*;"ﬁ‘/ﬁ B PR )

VAL 2 P



